ફ્રેક્સ : (૦૭૯) ૨૬૩૦૨૬૫૪ ટેલીફોન : ૨૬૩૦૧૩૪૧–૨૬૩૦૦૩૪૨–૪૩ ૨૬૩૦૦૧૨૬ અને૨૬૩૦૦૬૬૪ ટેલીગ્રામ : યુનિ.ગુજરાત



FAX : (079) 26302654 & 26306194 Phone : 26301341-26300342-43, 26300126 & 26300664 Gram : UNIGUJARAT

ગુજરાત યુનિવર્સિટી GUJARAT UNIVERSITY

ગુજરાત યુનિવર્સિટી કાર્યાલય પોસ્ટ બોક્ષ નં ૪૦૧૦ નવરંગપુરા, અમદાવાદ–૩૮૦ ૦૦૯.

ESTATE/OFFLINE TENDER/QUATATION/03/2017

DATE:-17 /01/ 2017

DATE:-	17 /01/ 2017				
NAME	OF WORK:-CONSTRUCTION OF COMPOUND \	NALL BE	TWEEN N	/ICROBIOLOGY	AND BOTANY OF
GUJAR	AT UNIVERSITY AHMDABAD		•		
SR.	Description of Item	OTY	UNIT	RATE	AMOUNT
No.					
1.0	Dismantling tiled or stone floors laid in mortar incl. Stacking of servicable materials & disposal of unsercicable materials with all lead and lift.	46.60	SQM	30.00	1398.00
2.0	Excavation for foundation up to 1.5 mt depth including sorting out and stacking of useful materials and disposing off the excavated stuff up to 50 meter lead.	46.60	CUM	122.00	5636.40
3.0	Providing and laying cement concrete 1:4:8 (1 cement : 4 coarse sand :8 hand broken stone aggregate 40 mm nominal size) and curing complete excluding cost of form work in (A) foundation and plinth.	8.55	CUM	2249.00	19228.95
4.0	filling in plinth with sand under floor including watering ramming ,consolidating and dressing comp	21.00	CUM	398.00	8538.00
5.0	Brick work using common burnt clay building bricks having crushing strength not less than 35 kg/ sq. C.M. In foundation and plinth in cement mortar 1:5 (1cement : 5 fine sand) (B) Conventional .	16.00	CUM	2872.00	45952.00
6.0	Brick work using common burnt clay building bricks having crushing strength not less than 35 kg/ sq. C.M. In superstructure above plinth level upto floor two level in cement mortar 1:5 (1cement : 5 fine sand) (B) Conventional .	9.10	CUM	3037.00	27636.70
7.0	_20 mm th sand faced cement plaster on walls up to height 10 meters above ground level consisting of 12 mm the. Backing coat of C.M. 1:3 (1 cement : 3 sand) and 8 mm th. Finishing coat of C.M. 1:1 (1 cement : 1 sand) etc. complete.	84.00	SQM	189.00	15876.00

ફૈક્સ :(૦૭૯) ૨૬૩૦૨૬૫૪ ટેલીકોન : ૨૬૩૦૧૩૪૧–૨૬૩૦૦૩૪૨–૪૩ ૨૬૩૦૦૧૨૬ અને૨૬૩૦૦૬૬૪ ટેલીગ્રામ : ધુનિ.ગુજરાત



FAX : (079) 26302654 & 26306194 Phone : 26301341-26300342-43, 26300126 & 26300664 Gram : UNIGUJARAT

ગુજરાત યુનિવર્સિટી GUJARAT UNIVERSITY

ગુજરાત યુનિવર્સિટી કાર્યાલય પોસ્ટ બોક્ષ નં ૪૦૧૦ નવરંગપુરા, અમદાવાદ–૩૮૦ ૦૦૯.

ESTATE/OFFLINE TENDER/QUATATION/03/2017

DATE:-17 /01/ 2017

	7 / 01/ 2017	_	T		, , , , , , , , , , , , , , , , , , , ,
8.0	Provdg & fixing 1.20 metre high	19.0	RMT	305.00	5795.00
8.0	fencing with 2.0 metre long M.S. angle posts 40 mm x 40 mm x 6 mm and oil painting 3 coats, fixed at 2.5 mt C/C with five Horizontal lines and two diagonals of galvanised steel barbed wire weighing 9.38 kg. Per 100 metre, strained and fixed to posts with G.I staples, incl. fixing the posts in ground with 0.5 M x 0.5 M x 0.5 M block in C.C. 1:5:10 etc. complete.	19.0	Kivii	303.00	3793.00
9.0	provdg & fixing M.S. grills of required pattern to wooden frames of window etc. with M.S. flats at required spacing's and frame around, square or round bars with round headed bolts and nuts or by screws (A) plain grill.	390.00	KG	63.60	24804.00
10.0	Painting (incl. Priming coat) on steel & other metal surfaces with enamel paint, brushing, interior to give an even shade incl. Cleaning the surface of all dirt, dust and other foreign matter.(A) For two coats	26.00	SQM	77.00	2002.00
11.0	Finishing wall with weather proof exterior emulsion paint on wall surface (two coats) to give an required shape even shade after thoroughly brushing the surface to remove all dirt, and remains of loose powdered materials etc. completed.	87.00	SQM	72.00	6264.00

ફૈક્સ : (૦૭૯) ૨૬૩૦૨૬૫૪ ટેલીફોન : ૨૬૩૦૧૩૪૧–૨૬૩૦૦૩૪૨–૪૩ ૨૬૩૦૦૧૨૬ અને૨૬૩૦૦૬૬૪ ટેલીગ્રામ : યુનિ.ગુજરાત

FAX : (079) 26302654 & 26306194 Phone : 26301341-26300342-43, 26300126 & 26300664 Gram : UNIGUJARAT

ગુજરાત યુનિવર્સિટી GUJARAT UNIVERSITY

ગુજરાત યુનિવર્સિટી કાર્યાલય પોસ્ટ બોક્ષ નં ૪૦૧૦ નવરંગપુરા, અમદાવાદ–૩૮૦ ૦૦૯.

OFFICE OF THE GUJARAT UNIVERSITY POST BOX NO.4010, NAVRANGPURA AHMEDABAD.380.009

ESTATE/OFFLINE TENDER/QUATATION/03/2017

DATE:-17 /01/ 2017

12.0	Provdg. & laying polished kota stone slab flooring over 20 mm (average) th. base if cement mortar 1:6 (1 cement : 6 coarse sand) or L.M. 1:1.5 laid over and jointed with grey cement slurry incl. Rubbing & polishing etc. complete.	46.60	SQM	765.00	35835.40
				TOTAL	198786.45

I / We am / are wolling to carry out the work at % above/ below percent (should be wrrite in figure and words) of the estimate rate meintend above amount of my /our tender works out as under

Estmate Amt	Estimate Amt.
Put to tender Rs. Add% Above RsTotal Rs.	
(plese strike out which is not applicable)	. In words

I/C RREGISTER.

SIGNATURE OF CONTRACTOR/VENDOR

Terms & Condition: As per attached Note

ફેક્સ : (૦૭૯) ૨૬૩૦૨૬૫૪ ટેલીકોન : ૨૬૩૦૧૩૪૧–૨૬૩૦૦૩૪૨–૧ ૨૬૩૦૦૧૨૬ અને૨૬૩૦૦૬૬૪ ટેલીગ્રામ : યુનિ.ગુજરાત



FAX : (079) 26302654 & 26306194 Phone : 26301341-26300342-43, 26300126 & 26300664 Gram : UNIGUJARAT

ગુજરાત યુનિવર્સિટી GUJARAT UNIVERSIT)

ગુજરાત યુનિવર્સિટી કાર્યાલય પોસ્ટ બોક્ષ નં ૪૦૧૦ નવરંગપુરા, અમદાવાદ–૩૮૦ ૦૦૯.

ESTATE/OFFLINE TENDER/QUATATION/03/2017

DATE:-17 /01/ 2017

Name of work:-CONSTRUCTION OF COMPOUND WALL BETWEEN MICROBIOLOGY AND BOTANY OF **GUJARAT UNIVERSITY AHMDABAD**

Notes For Vendors/Agency

- 1. The Gujarat University reserves the right to reject any or all Quotations without assigning any reasons thereto.
- 2. Work place: As Mentioned
- 3. Description & detail: Work inspection should be taken at side with the concern authority (estate
- 4. For further inquiry please contact: 079-26301333,Mr.Shailesh Goswami (Dr Engineer, +91-9978408016)
- 5. Sealed quotation duly filled up along with earnest money of Rs.500 in the form DD in favour of "The Registrar, Gujarat University" payable at Ahmedabad Shall be Submitted In Person at Room No.37, General Department, Tower Bulding, Gujarat University, Naranpura, Ahmedabad, up to the Last Date:-27/01/2017 UPTO 5:00 PM priscribed in Noitice
- 6. Work Shall be Carred Out as per general book late of Speciation & Instruction of Engineer Incharge.
- 7. All vendor/agency/contractor has to submit Pan Card with the quotation & And declaration for on their latter head in prescribe format.
 - a. Formate As Below

	"આશી		
ģ	.	ગુજરાત	યુનિવર્સિટી

ફેક્સ : (૦૭૯) ૨૬૩૦૨૬૫૪ ટેલીકોન : ૨૬૩૦૧૩૪૧–૨૬૩૦૦૩૪૨–૪૩ ૨૬૩૦૦૧૨૬ અને૨૬૩૦૦૬૬૪ ટેલીગ્રામ : યુનિ.ગુજરાત

FAX : (079) 26302654 & 26306194 Phone : 26301341-26300342-43, 26300126 & 26300664 Gram : UNIGUJARAT

ગુજરાત યુનિવર્સિટી GUJARAT UNIVERSITY

ગુજરાત યુનિવર્સિટી કાર્યાલય પોસ્ટ બોક્ષ નં ૪૦૧૦ નવરંગપુરા, અમદાવાદ–૩૮૦ ૦૦૯. OFFICE OF THE GUJARAT UNIVERSITY POST BOX NO.4010, NAVRANGPURA AHMEDABAD-380 009.

ESTATE/OFFLINE TENDER/QUATATION/03/2017 DATE:-17 /01/ 2017	
. , માં	_ કામગીરી યુનિવર્સિટી દ્વારા બતાવવામાં આવેલ નિયમોને
– આધીન સંતોષકારક રીતે પૂર્ણ કરવાની લેખિત બફેધર	. આપું છું.
ટેન્ડર/ક્વોટેશન ની કામગીરી મે તમામ રીતે સમજી	છે તથા કામગીરી દરમ્યાન યુનિવર્સિટી દ્વારા જે કોઈ ફેરફાર સાથે
કહેવામા આવશે તે મુજબ કામગીરી કરવાની મારી તૈય	ારી છે, તે સમજી અને વિયારી ને જ ખાત્રી પત્રક આપેલ છે."
	Signature OF Contractor
FOR OFFICE USE ONLY	
Quotation have been opened in presence o	f following officials Date:
1)	
2)	
3)	